TEMA 4. Exponencialsi logaritmes

Solucions full de preparacio

(d) 2log 3 + 4og 2

(9)log 3 +(og 2)/2
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aZ

. (@)log

. (@)x=48
(d)x=20,x=80

(gIx=-1,x=11

(b) logh~"/2

€ 1+log 2 +log 3

(h) 2092 + 3093

1. (a) x=2 b) x=-1,x=3 ©x=0,x=3

dx=1 € x=-3,x=3 6 x=7
(9) x=6 h)x=7 ) x=5
() x=1,x=2 K x=4 () x=-1,x=1
(m) x=2 0) x=1,x=0

. @ x=%32 b) x=-1 €)x=11
(d)x=3 © x>0 6 x=6
@ x=3 h)x=2 ()x =2
() x=0 K x=2 () x=1073
(m x=0 0)x = V11

. (@) 1+log3 () 1 +log 3—log 2 (©) 2 +log 3 +log 2

() (og 3 +1)/2

(C)log (475-a "115)  (d)logxy1°
(b)x=3 (c)x=29
(e)x=10 Hx=3
(hx=2,x=3



